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3. T ATHT TEI IS 3-
F) IS 205z AN G TCF G0 Tleie” -2 0=
(i) RreoCeT cefent
(ii) 5.1, J5e=fy,
(iii) 1, sTcafs
(iv) Sy

1. Answer all question :
(a) ‘Society is a web of social relationship’, said

(1) Kingslay Davis
(i1) T.B.Bottomore
(i11) P.Sorokin
(iv) Maciver
<) “ED (Y PO G0 Ko tafiey 2
(1) >Tlrer
(11) =W
(111) 7R
(iv) efsi
(b) “We-feeling’ is an important feature of
(1) Society
(11) Community
(i11) Association
(iv) Institution
o) AR AR 2Jg=ief eIl zeet-
(i) »fF==
(ii) &f
(1) ST
(iv) &fstaRi |
(c) The most essential agency of Socialization is
(1) Family
(11) Religion
(ii1) Mass Media
(iv) Neighbours
) P GG P 2 2N &G b3Sl 20T
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(i) .=, |
(i) feremr g
(iii) @, ==, O7R
(iv) @, B, vt
d) ‘Caste and Class in India’ is written by-
(1) M.N.Srinivas
(1) G .S. Ghurye
(iii) A.R.Desai
(iv) S.C. Dube
&) AT FITI (FITEF FoATFF A I (F T 28
(i) Fifers sTverel
(i) Fenfers Afaass
(iii) s frife
(iv) e Gy
e) Which modification, alternation that take place in social structure is known as—
(1) Social Mobility
(i1) Social Change
(ii1) Social Order
(iv) Social Inequality
) G AT alerog aAfede 23
(f) In which year sociology was established?
®) AT G0 9Jelole 9!l (375 /i)
(g) Observation is a qualitative research. (True/False)
) #{feTl ZCeT AIEE MRFCeR (6 SRR Ses- (37ey/ L)

(h) Police is an informal means of social control (True/False)

(1) Joint family consists of at least...........cccooeriecirinenieieinineenen, generations.
@ ) R IR 7T A Sz G<h{G Sz (31, f)

(j) Mother’s brother is an example of primary kin (True/False)

B) ScHs @35 o<l esEe (31 )

(k) Culture is a learned behaviour (True/False)

3 ) S TGHL (AT CHBCH ST SRPRGRTE v 5T 04 |

() Movement of people from lower to upper social strata is called......................... Mobility.

) ¢l arsi Teg mie OXS S=00
2. Answer all question : 3x11=33
(F) TEOG 10 [ (0 2 (©)

(a) What is meant by Sociology? 3)

() 96191 @ ATINIS I 2112 341 | (®)
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(b) Distinguish between qualititive and quantitative research.
(o) TR 2 (A B9)feT Sard 341 |

(c) Indicate the main features of community.

() AR e (2

(d) What is the signifance of Association?

() ‘o e

(e) What is Teknonymy?

(5) A RrBeffer Srad 39|

(f) Mention the characteristics of state.

(») aifSitaa atuia (afrayejfer o <4 |

(g) Point out the important features of institution.
(%) SIofly 5 2

(h) What is Crime?

@) Ao Koty FIcH et 2

(1) What s Cultural Lag?

() TS FT2CIAST (&1 5Jg =1l 2

(j) Why Co-operation is important in society?
() MR =AM AL ST STae 4 |

(k) Mention six major sources of pollution.

) fsferie emejfers Seq s

3. Answer all questions :

@) (i) e G3R 3SR M2 TAF 1D
<t
(ii) R g e et fRae)fer SItatlbel 4 |
(a) (1) Explain the relationship between Sociology and History.
or
(i1) Discuss the major features of functionalist perspective.
(?) Rz KT exRTems)foT SeEna 31
(b) Discuss the various types of marriages
() (i) Terer 8 AR AT 74 |
<t
(i) & TICEE TSN PAfzSaa)fet oRfTesa %4 |
() (1) Distinguish between culture and civilization.

(i1) Examine the recent changes in rural society.
8) frferie amsjfora Ten et -
4. Answer all question :

(F) eI AAwifon et s spyfiis)fer SIteTe 39 |
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(a) Discuss the merits and demerits of Questionnaire Method.

()

(b)

Q)

(©

)
(d)
(e)
(e)

(i) e fergeers fRfow stgsjfet i f 2
ERE|
(i) &A= G2 (Mol (oD T2y 2N 4 |
1) What are the various agencies of socil control?
or
i1) Differentiate between primary and secondary groups.
(1) SRR ST S SNEASCH (11255 feT SN 4 |
<t
(i) &, &l @R fReaites sty s efowt 4|

1) Discuss the features of Bureaucracy after Weber.

or

i1) Establish the relationship between Religion, Magic and Science.

AIfePrCe fRfes waejfer Satbe 5 |

Discuss the different stages of socialization.

A S 2 wif e @@ e AT 3= |

What is Socal stratification? Distinguish between caste and class.
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